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41 | ‘Ehike 36 47 83 5.2 77.8
42 | ] H 2 52 37 89 11.2 77.8
43 | B R 45 37 82 4.0 78.0
44 | R 36 52 88 10.0 78.0
45 | BORF v 51 37 88 10.0 78.0
46 | HIIE 36 51 87 8.8 78. 2
47 | STAE—RK 36 55 91 12. 4 78.6
48 | FALWERETS 53 37 90 11.2 78.8
49 | i FEA 53 37 90 11.2 78.8
50  JENLIESL 36 54 90 11.2 78. 8
51 | [@HEA 36 53 89 10.0 79.0
52 IATRREA 56 37 93 13.6 79. 4
53 | 5k 55 37 92 11.2 80. 8
54 | KR 60 37 97 16.0 81.0
55 KRFESIER 60 37 97 16.0 81.0
56  fid H =R — 59 37 96 14.8 81.2
57  JHHR= 51 37 88 6.4 81.6
58 | JH/KIH T 61 37 98 16.0 82.0
59  fhMEH 54 37 91 8.8 82. 2
60 | EAIKE 54 37 91 8.8 82. 2
61 | FRAEE 58 37 95 10.0 85.0
62 | EARZE— 36 71 107 17.2 89. 8
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1 fh ] 36 44 80 7.6 72.4
2 WEES 36 43 79 6.4 72.6
3 A sk— 47 37 84 11.2 72.8
4 B3R 36 52 88 14.8 73.2
5 fhHIESE 36 50 86 12.4 73.6
6 Bl deLl 36 50 86 12. 4 73.6
T OREBHL 36 43 79 5.2 73.8
8  FHEWK 36 42 78 4.0 74.0
9 | HAER 36 48 84 10.0 74.0
10 | thEpS 40 37 77 2.8 74. 2
11 HHERE 45 37 82 7.6 74. 4
12 okFIE 44 37 81 6.4 74.6
13 | RASS 36 44 80 5.2 74.8
14 | BEAFENR 36 50 86 11.2 74.8
15 | JIIARPE 49 37 86 11.2 74.8
16 | 4 i He =] 36 43 79 4.0 75.0
17 | TR 42 37 79 4.0 75.0
18 &AW E 36 43 79 4.0 75.0
19 mAEE 36 49 85 10.0 75.0
20  HARTAH 36 42 78 2.8 75.2
21 | EET 41 37 78 2.8 75. 2
22 | BERET 36 45 81 5.2 75.8
23  EHER 36 44 80 4.0 76.0
24 | [ = 49 37 86 10.0 76.0
25 | FARHECR 36 49 85 8.8 76. 2
26 HmATKR 48 37 85 8.8 76. 2
27 | fRHERE 36 49 85 8.8 76. 2
28 | FAREEE 47 37 84 7.6 76. 4
29 | BREHRH 47 37 84 7.6 76. 4
30 | AR 36 47 83 6.4 76. 6
31 AHwH 46 37 83 6.4 76. 6
32 | RAFIE 52 37 89 12.4 76. 6
33 | A 36 51 87 10.0 77.0
34 | BiIHEBZ 50 37 87 10.0 77.0
35 | wHEH| 43 37 80 2.8 77.2
36 | PEFTEE 49 37 86 8.8 77.2
37 FHIIK 54 37 91 13.6 77.4
38 | FAKTEEH 54 37 91 13.6 77.4
39 | d-Mpfdin 36 54 90 12.4 77.6
40 | EHE 46 37 83 5.2 77.8
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